BRNGAELE 55 [E] = AR L ER TR A 2 AFGEILASA SARIKER
1-2=2—h

=7 1 2 10 [ 11 [ 12 [ 13 [ 14 [wems] JEAL

1)#kJ 75K |BBJ 85 78 71 64 57 50 43 36 29 22 15 8 1

2154 KJE T.E.CiE& 42 79 34 73 26 67 18 61 10 55 2 49

3|HiE A [T.E.CiE& 35 72 27 66 19 60 11 54 3 48 86

HEE R |[wiucikars 28 65 20 59 12 53 1 7 87 A1

slEIE BR K [Eigd 21 58 13 52 5 16 88 40 80

6|HIE Bl [ KMy ==7 11 51 6 15 89 39 81 33

i EE HARGITT 7 44 90 38 82 32 74

BIRFE HE  |AHLpE 91 37 83 31 75 %

'R E& |fERT 84 30 76 24 68

1021 =&k |[fEA 7 23 69 17

L[EY gE  [RLARD 70 16 62

12/ R [RiL=AARE D 63 9

RGO s B T s 56

14|Ber A [HEARH

34—}

27 N—7 1 2 10 | 11 ]| 12 | 13 | 14 |s#ass| NGAT

1|JiE JofE T.E.C{E& 85 78 71 64 57 50 43 36 29 22 15 8 1

olex Kk B |T.ECiE®R 12 79 34 73 26 67 13 61 10 55 2 49

R NI T 35 72 27 66 19 60 11 54 3 18 86

A\VeRk e [BKERH 28 65 20 59 12 53 1 a7 87 a1

550R ZER |l A kAR 21 58 13 52 5 16 88 10 80

6|@mtE IOt | RIFAKRD 14 51 6 45 89 39 81 33

71/ 17 E TR 7 44 90 38 82 32 74

8| 5 i T PNOA 91 37 83 31 75 25

9| EfE A HFARGITT 84 30 76 24 68

10 FiE RA—H 7 23 69 17

11|8EH fndy | BRI 70 16 62

121 4)11 3# o AR D 63 9

13[fe 2 AR B kR GPEER 56

142 A IRK [BkbEER




TGRS 550 = AAK B ERIR L R 2 AF6EILAZH ZAARKEL
5:6=2—h
37 N—" 1 2 10 11 12 13 14 [#ess| BN
I B N P B | RN fabr (o A 85 78 71 64 57 50 43 36 29 22 15 8 1
o[l R 5 |T.E.CIEE 12 79 34 73 26 67 13 61 10 55 2 19
iR KM |[T.E.CIE% 35 72 27 66 19 60 11 54 3 48 86
Al A | L 28 65 20 59 12 53 4 a7 87 a1
NG R 21 58 13 52 5 16 88 10 80
6= % HHF R 14 51 6 15 89 39 81 33
TR IR [ Ky =a=7 7 41 90 38 82 32 74
S|FE 2K |[siEovooNoA 91 37 83 31 75 25
9|5 &5 | HmkGa T 84 30 76 24 68
10[ A Ok [ HIEEERC&C 77 23 69 17
1[HE K |En 70 16 62
12|50 St | 63 9
13[FHE 2 [skkbaEEs 56
148K HEE [HARHEERC&C
7-82—h
A7 N—7 1 2 10 | 11 ]| 12 | 13 | 14 |s#ass| NGAT
[BE Bk el =Atars 85 78 1 64 57 50 13 36 29 22 5 8 1
AN T.E.CiE& 42 79 34 73 26 67 13 61 10 55 2 49
3[ex A& 7H |T.E.CIE & 35 72 27 66 19 60 11 54 3 8 86
4| = RERE A 28 65 20 59 12 53 1 a7 87 a1
SlHE BE[REH 21 58 13 52 5 16 88 0 80
6|71l AEFN  |HEEKTTONOA 14 51 6 45 89 39 81 33
T\EHE B It bEya=7 7 11 90 38 82 32 72
QlERE AEiE |l AR 91 37 83 31 75 25
9[- L |[asiEkt2— 84 30 76 24 68
10/l Ll | ms 77 77 23 69 17
1[5 B [skebaEEs 70 16 62
12| —Fs & |FPHARD 63 9
13|t BA AN [HARHEEKC&C 56
14|k A=A A AR




BRNGAELE 55 [E] = AR L ER TR A 2 AFGEILASA SARIKER
9-10=—h
S/N—T L 2 10 [ 11 [ 12 [ 13 [ 14 [sama] A
/NEK BE |8 0 85 78 71 64 57 50 13 36 29 22 15 8 1
olEE EE  |ml-Akarid 12 79 34 73 26 67 B 61 10 55 2 19
3| EMH A [sERTTUUNOA 35 72 27 66 19 60 11 54 3 18 86
A|FH thE [EARE 28 65 20 59 12 53 4 47 87 41
TR L 21 58 13 52 5 16 88 10 80
6|1VciE KAl [k bEv=a=7 11 51 6 15 89 39 81 33
1) EBYR  |LohLarT7 7 41 90 38 82 32 74
8I/hEPsF HBR |{ERH 91 37 83 31 75 %
IMWe xR BEFG [l =AKR=R D 84 30 76 24 68
108 E PF |RIBH 7 23 69 17
L1/ #LBE | Ky ==7 70 16 62
12|RES [eA 3} [sEkTD 0 oNOA 63 9
13|12 K Bize | Adith 56
14| &1L b =Rk RR L
11-12=2—}F
67 N—7 1 2 10 | 11 | 12 | 13 | 14 [#ems] W66
1|#4RE i It EYa=7 85 78 71 64 57 50 43 36 29 22 15 8 1
ol kmy 4 LomLaroo 12 79 34 73 26 67 18 61 10 55 2 19
3[R R [LonLaroo 35 72 27 66 19 60 11 54 3 18 86
e K Fok [fEst 28 65 20 59 12 53 1 AT 87 AT
513 ik A 21 58 13 52 5 46 88 10 80
6|58 o | &JIEF 14 51 6 45 89 39 81 33
7| =00 &z | AR 7 41 90 38 82 32 74
8| Fd EEL |l = AR D 91 37 83 31 75 25
|k EfF [k 84 30 76 22 68
10 K% IR | RIARD 77 23 69 17
1T BE | KiY=2=7 70 16 62
12|14 SEF | EHITT 63 9
13|)E nFl |T.E.CAE& 56
14| =08 Ew]  [l=Akzsd




BRNGAELE 55 [E] = AR L ER TR A 2 AFGEILASA SARIKER
13-14=—}h
7T N—T 1 2 10 11 12 13 14 [#ess| BN
[&tE mAE [l2a -k 85 78 71 64 57 50 43 36 29 22 15 8 1
olEm I [FERT 12 79 34 73 26 67 18 61 10 55 2 19
3| HE Fnsk ) R 35 72 27 66 19 60 11 54 3 48 86
AEfE e [ aRd 28 65 20 59 12 53 4 47 87 11
Sl EEA |k 21 58 13 52 5 16 88 40 80
6lVEM MLA [ 14 51 6 15 89 39 81 33
T K (K a=7 7 44 90 38 82 32 74
8|&i% i |T.E.CIE& 91 37 83 31 75 25
9|41 EWR  |LonLerTy 84 30 76 24 68
10| fnHl Fegkt Lol aro7 77 23 69 17
LAE S [l = ARARRD 70 16 62
12| Fpk & Jii H H 63 9
L3|FHE thiE  [ER 56
14225018 [l = Ak 240
15-16=—h
87 N—7 1 2 10 | 11 | 12 | 13 | 14 [s#ams] EHr
MRS B 85 78 71 64 57 50 43 36 29 22 15 8 1
olwmz A [LonLarso 1 79 34 73 26 67 18 61 10 55 2 49
3R E WE LomLErs5T 35 72 27 66 19 60 11 54 3 48 86
4B TF Kb |[min=Eskzss 28 65 20 59 12 53 1 47 87 11
5RO (@t 21 58 13 52 5 16 88 10 80
6|t T | R 14 51 6 15 89 39 81 33
T1&E KEE  |gk@EH 7 44 90 38 82 32 74
8IEw] ASE | KIBH 91 37 83 31 75 %
9/ HTPZE [ Ry ==7 84 30 76 24 68
10| T3¢ Rk [ KFodp 7 23 69 17
11|71 BEER | 5EkT 0 ONOA 70 16 62
12|81 A |[ER T 63 9
13| K1 % B HARD 56
L4|5R SBR[l =k k 2D




BRNGAELE 55 [E] = AR L ER TR A 2 AFGEILASA SARIKER
17-18=—Fk

YN—T L 2 10 | 11 | 12 | 13 | 14 [stems] JER:

EA sk | LoAR A 85 78 71 64 57 50 13 36 29 22 15 8 1

ol )l 24 1 F ELER A 12 79 34 73 26 67 B 61 10 55 2 19

EE (FE (TER/INER 35 72 27 66 19 60 11 54 3 48 86

AlfnE ER (L ARA 28 65 20 59 12 53 4 47 87 11

SR B | KRR 21 58 13 52 5 416 883 40 80

6lv1/ /7 LoWLHBITT 14 51 6 45 89 39 31 33

A5 S S 7 44 90 38 82 32 74

8’ F AEME |[miL = AkRRD 91 37 83 31 75 25

9|FRH JH B H AR D 84 30 76 24 68

10785 REE |pkEF T 23 69 17

T3 EE [ 70 16 62

12| BAR BE | Ky ==7 63 9

L3|HRoe Hizg: |EA_F 56

UEE 3 | ER T

19:20=2—}F

107 —7 1 2 10 | 11 | 12 | 13 | 14 |sams] L

B E KER [WiiciEarib 85 78 71 64 57 50 13 36 29 22 5 8 1

2|44 IR A< o7 42 79 34 73 26 67 18 61 10 55 2 49

SR O |eb—Akadis 35 72 27 66 19 60 11 54 3 18 86

5 05 |[#FrmAard 28 65 20 59 12 53 1 AT 87 AT

519 & KMy =7 21 58 13 52 5 16 88 10 80

6l E | E= s 14 51 6 15 89 39 81 33

715 B0 | HKIRTTA 7 44 90 38 82 32 72

8|#jik HifEE |RKIRH 91 37 83 31 75 25

Ifex K & |RL=KARFRD 84 30 76 24 68

10| —fE FHA [RIEBH 7 23 69 17

11| F5 K R 70 16 62

12|10t ERBLAY Bk B pEs 63 9

L3R 2R |[mil = AkRRD 56

14




BRNGAELE 55 [E] = AR L ER TR A 2 AFGEILASA SARIKER
21-22a—h
17 —7 L 2 10 | 11 | 12 | 13 | 14 [stems] JER:
EE £2  |HKRITA 85 78 71 64 57 50 43 36 29 22 15 8 1
2|l 755  [HOPEHEKZF~7 42 79 34 73 26 67 18 61 10 55 2 49
3ikAT B T.E.C{E2& 35 72 27 66 19 60 11 54 3 48 86
AEIR ER IR AR 28 65 20 59 12 53 4 47 87 11
5lBE #Rok  [RKERH 21 58 13 52 5 46 883 40 80
6tk 1= AL = AR AR 14 51 6 45 89 39 81 33
TVNR Bk [ =ackamy 7 44 90 38 82 32 74
S|EtE FiA  |RIEsH 91 37 83 31 75 25
9B fkAE | KLY ==7 84 30 76 24 68
10|IUA HEH  |E685 7 23 69 17
11| VB  |kRGEEs 70 16 62
12|16R8F 238 | RILEERC&C 63 9
13 56
14
23-24a—h
127V —7 1 2 10 | 11 ]| 12 | 13 | 14 |s#ass| NGAT
1R #F  [BARTTA 85 78 71 64 57 50 43 36 29 22 15 8 1
e e K B T =Akaris 1 79 34 73 26 67 18 61 10 55 2 49
e FEER |G 35 72 27 66 19 60 11 54 3 48 86
41 7R ¥ | 28 65 20 59 12 53 4 47 87 41
S|P K FE [ KMV =a=7 21 58 13 52 5 46 88 10 80
6| =F] |HEEGS 14 51 6 45 89 39 81 33
185K TFE [FRALEERC&C 7 44 90 38 82 32 74
S|fES fi  [BoE 91 37 83 31 75 25
ol HH T |EAE 84 30 76 22 68
10| HiiE % R Ji ATR /) 7 23 69 17
B O I ke S ey = 70 16 62
12|14 KR #E |[PHEAF 63 9
13 56
14




SFGMEE 50 = AR HER TR S 4

SFI64E11H3A

ZARARFAE
22526 —h

137 —7 1 2 10 11 12 13 14 [#ess| BN
HH &R [HFAASEEk 85 78 71 64 57 50 43 36 29 22 15 8 1
olzggH Fe | 42 79 34 73 26 67 18 61 10 55 2 49
s/ hEr S = [ esip 35 72 27 66 19 60 11 54 3 48 86
ARG =46 |HOPERLERZ T~ 28 65 20 59 12 53 4 47 87 41
SlITH 4HE |hErmekss7 21 58 13 52 5 46 883 40 80
6fnkE EMS | HdbELERC&C 14 51 6 45 89 39 81 33
TWerx K BHEL |FPHAF 7 44 90 38 82 32 74
S| & = i 91 37 83 31 75 25
o[sEIN Bl  |HHH 84 30 76 24 683

10[EmE BREe  |[miu=Akkzrd 77 23 69 17
L =00 s [ 70 16 62
12|k 250 [RI=au)r 63 9
13 56
14
o527 282 —h

147 n—=>7 1 2 10 11 12 13 14 |#ems| B

1zEfE fme [thm 85 78 71 64 57 50 43 36 29 22 15 8 1
olin B A i 42 79 34 73 26 67 18 61 10 55 2 49
sliiy =¥ |hmh 35 72 27 66 19 60 11 54 3 48 86
A BN D b= AR 28 65 20 59 12 53 4 47 87 41
SWeE 2 AR BIREL [l = AARzR A 21 58 13 52 5 46 88 40 80
6lEE =L [ IIRARD 14 51 6 45 89 39 81 33
7ocmTRE PEESETC 7 44 90 38 82 32 74
Slerm BEfE  |[FAEER 91 37 83 31 75 25
o[EE ek [T 81 30| 7| 21| o8
10|REY R |sEkTVONOA 7 23 69 17
11|40 ImERE RmGe 70 16 62
12| % A B+ [HAKIRTTA 63 9
13| EifE SRR | KRR 56
14




SFGMEE 50 = AR HER TR S 4

SFI64E11H3A

ZARARFAE
22930 —h

167 )V—7 1 2 10 | 11 | 12 [ 13 | 14 [wans] NE@y
N EES FEa) 85 78 71 64 57 50 43 36 29 22 15 8 1
olmrmt =& [Tmh 12 79 34 73 26 67 18 61 10 55 2 19
3| R A R EAARRHD 35 72 27 66 19 60 11 54 3 18 86
AlHF 8K i =AkRzRwd 28 65 20 59 12 53 4 47 87 41
SR Fi+ | 21 58 13 52 5 416 883 40 80
675 EfZ @ 14 51 6 45 89 39 81 33
7 BkEE [ FAREER 7 44 90 38 82 32 74
S| H IR | HEAEER 91 37 83 31 75 %
9eRE EEHE | KIARD 84 30 76 24 68

10[ 58 32H [l =AAARd T 23 69 17
11|47 % |HOPEREKZF7 70 16 62
12K (Ehl | RIEARD 63 9
13|85 AR £ | HKRTTA 56
14
2531 - 32—k

167 —7 1 2 10 | 11 | 12 | 13 | 14 [#ems] W66

R 1z |[dEbya=7 85 78 71 64 57 50 13 36 29 22 15 8 1
NEE T L 12 79 34 73 26 67 13 61 10 55 2 49
iEE = H e 35 72 27 66 19 60 11 54 3 48 86
NE= 3t CELE 28 65 20 59 12 53 1 47 87 1
SIARHE 52 |[ili=AAz40 21 58 13 52 5 46 88 40 80
6| EWE ADAEH] [l A AR 14 51 6 15 89 39 81 33
TR SE)0F] IMREERY T 7 14 90 33 82 32 77
8|4l 70> |T.E.CHER 91 37 83 31 75 25
I OMp BRI 84 30 76 24 68
10|41 mese  [FAREER 77 23 69 17
LN MEEE | RIARD 70 16 62
12| N #EE | RIEARD 63 9
138 AR A [HKIRTTA 56
14




